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Answer' anY five questions.

l. (a) Write in details about the operators available

in C lahguage. l0

(b) Write a program to read an array of size

100. Take another input of a number from

the user and search if the number exists in

the array. If yes, count the no. of times the

number occurred in the arraY' 10

Contd.



(a)

(b)

(c)

2.

(a)

(b)

J.

Using a program, explain how pointer
variables can be used to access strings. 5

Is it possible to create an aray of structure ?

Explain with the help of an example. 5

Write the algorithm and draw the flowchart
to solve the following series :

tlllJ=li-+-+-i-...- tn2t 3! 4t N!

How is comma operator useful in a for loop ?
Explain with the help of relevant examples.

5

Write a pirogram that displays all the numbers
from 110 to 400 that are not divisible by 2
as well as by 3. l0

@ y= A+(B'c)
AND and OR
NAND gates.

has been represented

gates. Represent it
uslng
using

5

4. (a) Distinguish between the following :

(i) break and continue

(it) Call by value and call by reference.
5+5:10
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5.

(b) Write a program using functions to calculate
X to the oower of L where I can be either
negauve or posltlve. t0

(a) Explain the importance of a switch case

statement. When will you prefer to work with
a switch statement ? Also give its limitations.

5

2.5+2.5:5

(, decimal equivalent of the octal number
(434)8

(i, binary equivalent of the hexadecimal
number (100'Flh6

(c) How many types of storage classes does the

C language support ? Why do we need

different types of such classes ? Give the

features of each storage class. l+3+6:10

(b) Find the following :

Write short notes on :

(, Nested structures

(i, Two-DimensionalArrays

(iii) Ceneration of Computers

(i v/ Recursive functions.

6. 4x5:20
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7. Define a structure date containing three integers-
day, month and year. Write .a program using
functions to read data, to validate the date entered

by the user and then print the date on the screen.

For example, if you enter 29, 2, 2010 then that is
an invalid date as 2010 is not a leap year. Similarly
31, 6,2007 is invalid as June does not has 3l
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